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	1.  Find the coordinates where the following equation crosses the ​​ x-axis:
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 Add sqrt to each x-coordinate

	2.  A friend of yours wants to come up for a football game this fall.  He goes to school at Georgetown and knows it is approximately 280 miles from his door to Thayer Gate.  He plans to leave at 4pm on a Friday after classes and based on weekly traffic reports, estimates it will take him 90 minutes to reach Baltimore if he travels at 30 mph.  He wants to complete the entire trip in 6 hours.  What speed will your friend have to average after leaving Baltimore to reach West Point by 10pm?
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	3.  Determine the result when 
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	4.  What are the domain and range of the real valued function 
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	5.  Solve 
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	6.  Given the square, ABCD, with an area of 144 ft2 and diagonal AC, what is the length of AF?
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	7.  You are fishing on a lake - one of a group of three fishermen, in three separate boats.  One friend is located near a sunken tree 12 meters south and 4 meters west of you.  Your other friend is floating 6 meters north and 2 meters east of you.  Is there a line that passes through all of your positions?  If there is provide its equation.  If there isn’t explain why.
There is one!  Its equation is 
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	8.  Sketch the graph of 
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.   Make sure to label your axes and identify three points on your graph.

 

	9.  Solve the following equation for t: 
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	10.  Simplify 
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	11.  Using trigonometric definitions, simplify 
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	12.  Determine x if 
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